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‘Allthe questmns are compu Isor}r

2. mmﬁaﬂﬁmﬁﬁﬁmﬁa@mﬁﬂmm |

Eﬁﬂtﬁ;-—cﬂ W%mﬁﬂﬁ’tqm

If I.here is any errﬁrfdlffcrencefcontradlcnon in Hindi or Enghsh
"v’ersmn of the question paper the question of Hindi Version shou]d

be treated valid.

E’UEBT

A ZEH T R | ' e

Equivalent welght of an element is 9 and it’s valency is 3 then :

~ calculate the atomic weight of this atom.

mﬁﬁmﬁﬁmm%mﬁﬁwﬂ%a@mﬁm

L7 %

Which elements does not have any neutron in itself?

/3/ H(’:IO;ﬁ C) 7 SRR 3idh 1 T g | Vi

. What is the oxid ati-:m number ofchlorine atom in HCIO,.

- cﬁommﬁ e 1 e fefad | Y
What is the suﬂ"'x fc-r-CHO funcuonai group f'or IUPAC

nomenclaturc'? T o - PTO.

Lt
i ';"
3
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57 %ﬁﬁmmmm%mw%hﬂﬂﬂﬁwwm
'FEI‘FE’-?II . A

Write the name of sultable indicator for the ntratlon in behveen

weak acid and strong base:

wﬁamﬁmmaﬂqmﬁaﬁﬂ%ﬁﬁaﬁ@rﬁ%mmm

T TS ' ' AL
Whal happens to the entropy of a systcm if q heat'is given to the:
system‘? .
/ famfma T TH I Tq'rsrut afrrs%; o Y
Give an example of an isolated system. _
/ cfra T frer P T RO A A

Give an example of an isolated system.

i’

mﬁﬁa:ﬁﬁwﬁﬁmﬁﬁ:mhaamﬁuﬁmﬁmmﬁa

4 [Hﬁmﬁ?ﬁ'ﬂm] i,

Which element is detected I:-:,,r the Kjeldahl’s method in orgamc
compound.

}V‘_‘(Ewwﬂweﬂmw’m%? - | v

" "What do you mean by teﬁn (E+PV)? .
1) T 7 T A 9 ot fa 35

‘Write the name of any two methods to determine the : atomic mass.

/aﬁﬁﬂmaﬁnﬂ?maﬂaﬁaﬁﬁmuﬁmﬁwr@m%

ii?
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- [3] P-73] " _' (4] S '

Why Chloroform lsstored maco]ourful glass bnttlewnh addition ©o19, /l{[zg Hm-ozaﬂ"fﬁﬂﬁam | % |

of 2% ethanol? L | .wﬁte down the Lewis stmcm}e for H,0 and O, |
_1;/311: ﬁaﬁuﬁwﬁmmﬂmﬂi SR | Eﬂr”ﬂﬁﬂﬁwﬁuﬁmmwgmnﬁaﬂmﬂl 1%
' ~ Arrange the'entropy of gas, liquid and solid in an ascending order, What do you understand by coordinate bond? Explain with

O A H TR : q o example’

Define the adiabatic process. - - - - 5 CeH, +HNO3“""C HNO, +H,0 a0 :
' ' . v s Com = 2
/Waﬁéﬁaﬂﬁﬂfmﬁmﬁﬁl o~ A . ' : - -

100 gm CH, aer 100 &M HNO, & firen e w sifvrees & . )
o e g '

Write a short note on column chromatography.

N SIS T %muﬁ:HCl'EF?gﬁ 1}_’_33;%{_-}21@31% (ZEHH &
SR T A g Hern 541 g0t ? frera 0 - 1,19gmiem’
Commercially available cunﬁentmted HCl contains 38% HCl by

* Mass (% w/w); what is the molarity of this solution? The density
_of solution is 1.19 gm/cm?. '

CsHs -I-_'['[NC'; —CeHNO, + H,0
liquid liquid -~ liquid." liquid -

WO AU U0ISGI A/ dpy

If 100 gm C,H, react with 100 gm HNO,, then identify the limit-

ing reagent. rbseonline.com

22,/ mﬁ@magﬁﬁmmﬁmﬂﬁﬂmﬁu'_
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ye-aﬁa‘rmwwﬁm s W
Derive the de-broglie equatlc;-n ‘ E . ) E"‘Pla'“ lhc S&OHE eIectronte and weak electrolyte with an example
/ﬁnmwaﬂﬁﬁmﬁmmﬁm 1%, : g -|
M N — ' S . mmﬁw@amﬁnﬁwMaﬂwmm .
' 1 : ﬂq@ammﬁmmwmﬁm? '
(ii) wnfeae e .. ' S IR i TN _ 3
< : N, +H 2NH, + 22.4 K Cal
(iii) e e 2 T H, 7= 2NK, .

Explain the principle of Le Chatelier and discuss th effect of ) |

| decrease in temperature (ii) increase in pressure on the equilib-
(i) Covalent radius . : rium in the following case.

(i) Metallic radius N, + H, =

- Differentiate the followings : -

' = INH, ¥2u K Cal
© (iii) Vander Waals radius 224 |
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(51

i ST T T T 3 2 e w3
Explain the classification of the Catalyst—with an example on the

basis of it’s.

WWEWmﬁwm}mﬁ#@m 3

 Write four differences between chemical and physical absorption.

mamm@ﬁﬁ;ﬁqﬁm%ﬂﬁﬁﬂﬁrﬂﬁmﬁl 3
Explain the Leibig’s method for quantltatwe analysis of carhnn
and hydrogen. .

ﬁnﬁ‘ﬁﬂ-ﬁm - Explain the f.ullowigg m_: 3

(ii) T, Tehi, qﬂﬁﬁﬂ‘c C 5y s 1 Jga
(iii) TeH, TEEH, mrﬁﬁmzc Caaaﬁfmm-ﬂ '

(i) Decrcas:ng order -::-f bond length in alkane alkene a]kunc

WO IUHUOISGI MM/ dpy
WO IUIHOISI MMy dny

(ii) Decreasing ordcr of bond length in alkane, alkene, alkyne
(carbon-carbon bond)

}/ ww&ﬁmﬁﬁmmwﬁﬁﬁwaﬂ%mw FRGIA 3R

aﬂlﬁzﬁsﬁac—ch aﬁmf@rﬁlaﬂiwﬁﬂw%ﬁ@ﬁaﬂuﬁmm.
F: 40% A 6.67% TR N1 A e T anfoerr 7 EICH
ﬁah_vﬂﬁmmawmaﬁﬁm o . g
A compound containing Carbon, hydrogen, and oxygen gave the
following analytuical data :

C=40.0% H=6.67%

_Calculate the Molecular formula of the compound if its Molecular

Mass is 180.

http://www.rbseonline.com
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(i) Sfferm = s ved) drm @ e gl 2 i
(i) TR 9 o e et ) A & 2
-(m) Wﬂﬁsﬁmﬁ@}ﬁmﬁﬁ?%ﬂ’
() Wﬁﬁﬁﬁﬁaﬁltﬁﬁﬂmﬁlﬁ%ﬁ?

) Wﬂﬁfﬁmﬁmaﬁmmﬁuﬁmaﬂww
- & B | =

Explain the followings :

(i) lonisation Euthalpy of Beryllium is more than Boron, 'w_l'{.y? *

(ii) Isonisation Enthalpy of niﬁogen is more than oxygen, why?
(iii) Electron gain Enthalpy of Nitrogen is positive. Why?
(iv) Electrr-p gain "{ha.p} of Beryllium is posﬁwe Why‘?

decreases, why?

| wuT(OR) |
-M,p,dﬁkfﬁm%aﬁmmwﬁaﬁﬁmm

,('Wjﬁj;ﬂﬁmﬁ~

(a) TREA F1 S fagia
(b) T=FN Fv HEm . -
{3 et e 1 feia

(i)  Write down the common valence shell electronic conﬁgu-

ration of s, P d, l'bluck elements.

2+1+1+1=5

(i)  Explain the followings:

ht tp://'www.rbsconline.com

1+1+474141=5,

(¥) .Going from leftto rlgh; in second period size of atomic rad:us.
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_ (71 - P13
(a) Pauli’s exclusion Principle
(b) Magnetic Quantum Number
(cj Heisenbe'rg"s ljnﬁer_tainity Principle _
L’maﬁmﬂﬁ'& . T 141414147 =5
(i) e Ain |
(i) em?pa sE Tﬂﬁﬁ

L (Gi) Vet dfe

(iv) TR N
(v) fawm i difrs
Explain the followings :

T (i) Saturated Acyclic compound

() Unsaturated Acyclic conpound

- (i) Aliculic compound

(iv)  Aromaticcompound tbseonline.com
(v) HetcrdCyclic compound

3 | FUA(OR)
(i) ﬁﬂfﬁ‘l‘@ﬁﬂ?ﬁﬁﬁ:ﬁ‘:ﬁmﬁmﬂﬁm ﬁfﬁ-qeg Felva, s
'WWaﬁmﬁm
i

HC- CH, ~CH- C-ClI,

. ~ CH, CH, |
(i) freifeam aifirs =1 1UPAC 7w ferfign-
.(a}.TOOH . () HC C 0 ¢ cn,
coo | ol
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- (i)

(iat)

http://www.rbseonline.com

%

(8] E ' P-73

(i) mmwawwﬁm a-
(@) - R =G, () e - O =CH-CH

CH,

[dentify the primary, secondary, teritiary and quartet carbon

inthe following organic compound.

- CH,

HC- CH, ~CH- C-CH,

« |
- CH, CH,

Write the TUPAC name of following organic compound.

Fay ¢ " . b} i ' .r
‘4 cooH o~ HC- C-0- C-CH,

P R
SR 0 0

‘COOH

Write the derived name of the fol lowing organic compound.

~* (a)HC- CH, =CH, "(b) HC- CH =CH - CH,

CH,

o
L]
-l..
L)
o
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